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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 48 pages including this front page, containing 200 questions. Verify the b r
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice

any discrepancy.
2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to you to be correct
or the best. Now darken the circle corresponding to the letter of the selected answer in the

OMR Sheet with Black Ball Point Pen.

One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more than one circle is encoded
for a particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

There will be negative marking of 0.25 mark for each wrong answer.

There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet should be handed over to the Invigilator before leaving the Examination Hall.
" You are permitted to take away the used Test Booklef after completion of the examination.
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=:'£;f'which of the phra'sb's"bclnw is the term
‘blog’ an abbreviation? i
: (A) web log

~ (B) webblog

C) web blogger

(D) web blogging

5. Selecttheidiom that bestreplaces the words
in italics in the following sentence — You should
review your options caréfully before you make a

decision. 1 :
(A) make hay while the sun shines

(B) sit on the fence
(C) look before you leap
(D) kill the golden goose

3. Fill in the blanks with the correct set of

words.

She was not interested _____ taking
French,butdecided_____opt____German instead.

(A) in; up; to; for

(B) to; on; in; with

(C) on; to; for; on

(D) for; to; in; to

4. Choose the word that best replaces the
italicized words in the given sentence — In earlier
times, rebels were executed for killing the king.

(A) homicide  (B) regicide
(C) parricide (D) fratricide

5. Select the word that best replaces both the
italicized words in the sentences given below:
Sentence (i) — The managementdid not find him

suitable for the job.
Sentence (ii) — He was not able to arrange all his
belongings into one suitcase.
_, (A) good
(B) apt
A (C) fit
(D) cram

6. Identify the incorrect pair
~ (A) Kidney diseases — urologist

(B) Blood-related diseases—haematologi
(B) Bl Zist
- (C) Diseases of the stomach —

ﬂ'l !
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§. Choose muwnrd.which.i:sf.,_ anor

‘Chide’.

(A) Scold

(B) Chastise

(C) Praise
(D) Armaign

9. Whichofthe followingisan auxiliar
(A) Look
(B) Can
(C) Take
(D) Do

10. Who is a ‘psephologist’? s
(A) Samcunewhaspccmhzcs_msm ical
studies of voting patterns in electio ns.

(B) Someone who specializes in a certain
branch of neuropsychology.

(C) Someone who specializes in a certain
branch of astrophysics. F

(D) Someone who practises Freudian'
psychoanalysis.

e
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11. Correctly change the following sentenceto
the active voice, using the appropriate punctuation
— My daughter expressed her preference for
History over English. (&

(A) My daughter says ‘I prefer History =
over English,” '
(B) My daughter said, I prefer History

over English.”

(C) My daughter tells — ‘I prefer History
over English.’

(D) My daughter told, “1 prefer History
over English.”

12. Fillinthe blanks with the appropriate group :
of words, t
He has meticulous in the
project, rise to irregularities.
(A) not being; overseen; given; much
(B) not; oversaw; give; more
(C) not been; overseeing; giving; many
(D) not be; oversee; gave; much

13. Fillintheblanks withtheappropriatewords,

Weneedto this matter
thoroughly. ' v AR

(A) look into; more ek caE

(B) lookin;most
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26. Who observed: “The Congress is in reality
a civil war without mm“?
(A) Lord Duffenn
(B) M. A. Jinnah
(C) Sir Syed Ahmad Khan
(D) Lord Curzon

27. Who was the Tenth and Last Guru of the
Sikhs?
(A) Guru Ram Das
(B) Guru Hargobind
(C) Guru Govind
(D) Guru Tegh Bahadur

28. The Vaikkom Satyagraha was launched in
1924 for

{A) opening the temples to the low castes
Hindus.

1 (B) fighting against the exploitation by
the landlords.

(C) removal of Press restrictions.

(D) democratization of the administration
of Travancore state.

29. A, B, C, D are four friends. C is older than
Dbut younger than B. A is older but not elder most.
Arrange A, B, C, Din ascending order of their age.

(A) D,C,A,B
(B) C,D,A,B
(C) D,C,B, A
(D) B,C,A,D

- _' -'I-'I "

~ 30. Which of the following pairs comprises of
sma]]e.st and the largest endocrine glands of

e
e

- human rpgycﬂively?

(D) Pineal body-thyroid

o
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37, AR TN T (T8 OFF T e
(A) oF FETH
(B) oF TUNRH
(C) & CME=
(D) ©F (STITA

28. SRIFE HENLZ 1924 AN @ &= A5
e—

(A) fm wren Rere w0 TREE weEl

4 ST T

(B) ceifieraine e Rera wek 3=

= _

(C) FIMATER Toa Frrarat #amwE o)

(D) TEMWT MR AP ST

(-

29..A. B, C, D 5 % | D~97 (¥t C 0], g

B-£3 (0= (T A 08I, w9 e e 7|

T SR A, B, C, DG ST 30 7o |
(A) D,C, A, B b
(B) C,D, A, B :
(C) D,C, B, A .
(D) B,C,A,D Fi
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- 31. The first Satyagrahi selected by Mahatma
Gandhi to launch the Individual Satyagraha in
October 1940, was

(A) C. Rajagopalachari
(B) Vallabhbhai Patel
(C) Dr. Rajendra Prasad
(D) J. B. Kripalani

32, Complete the letter series
sl 8 Irss st 8
(A) trsr
(B) rssr
(C) rsir
(D) rtsr

33. After the Surat Split in 1907, the second
split in the Congress took place in 1918 on the
issue of

(A) Lucknow Pact

(B) Montagu Declaration

(C) Election of Mrs. Annie Besant as
President of the INC (1917)

(D) Both (B) and (C) abave

b

2

31. 194047 weim s wer sl SEne
wena® fif afesreens sz A e,
faf =

(A) . Fremsnsiemsifa

(B) TREER ANt

(C) &. FI0ers =AM

(D) c=. . st

32, = cafeifd ©ff = ¢
sl 5
(A) trsr
(B) rssr
(C) rstr
(D) risr

rest 5

tes_ =

33, 19074 IR 2T SIEHA 7, 19180
SR T S MG (1 S0 PR A U1 =2
(A) T BiE
(B) wroe fafe
(C) =em e Feiefe e sy
w11 s P e (1917)

(D) TG (B) @32 (C) &= FACH &

<2
A

(A) 6

(B) 19
(© 11

(D) 1
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a8, Which of the following would have

onary T
nilati effect on the economy
i 1. RBI releasing new bonds in the market

2 RBI decreasing the SLR
3. RBI increasing the Bank Rate
4. Abolition of CRR

(A) 1,2and 3

(B) 1and 4 only

(C) 2 and 4 only

(D) 3 and 4 only

36. The term ‘Political Justice’ is mentioned in
the Indian Constitution under which of these.

(A) Only under the Preamble to the
Constitution of India

(B) Under both Preamble and Directive
Principles

(C) Under Fundamental Rights and
Directive Principles

(D) Under Preamble of the Constitution
and Fundamental Rights

37. Two drops of liquid mﬂge to form a single
drop. In this process energy is

(A) absorbed.
(B) released.

(C) may be absorbed or released
depending upon the specific heat of
the liguid.

(D) neither absorbed nor released.
38. Inlndiathe state with highest yield of Pulse
(Dal) per hectare
(A) Madhya Pradesh
(B) Rajasthan
(C) Gujarat
(D) Uttar Pradesh

o0 39. Whn.t 1s the aim of the ‘Jan Vishwas Bill’
th-:h was recenﬂy tablmd in Lok Sabha?

'Ii‘\'

. (C) =2 Hitwifers Stz ez frda ==

g
nil
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35, el SIAeA wUTeErs *t r'
P ¢ 4
1. mnmwﬂwmm
2. RBI SLR T410%
3. RBI T T4 AMeFE 1
4, CRR &##d ¥ 2%
(A) 1,283
(B) oy 164
(C) uy264
(D) vy3e4

36. Wﬂtﬁwmwmm
yrasiita Soe Wi e

(A) ERETE SRS AR SR
(B) =6 frfergers e — Sen wey
(C) chfrewies & FufrgE Tt — e

o
(D) =%l @ CRIfF Tk — S uy

&l

37. T U 1 eaiEe o o3 T ofiae
7, 2 s =fea

(A). oIt =27 |
(B) if& ==

(IRt 91 56 20w #iie | a
(D) (11 SN & A1 7= 11 ,.

38. G1el BeoAMTA ST (237 21 Besirre g |
(A) Spere= '
(B) e
(C) wEare
(D) EaEase

39, Arefeemm mreTer mRe T e
fae'-qa st Srwy §ie

(A) =rewamya i
(B) =t aferema Hfaw
(C) 53 gt
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40. Where is the Headquarter of the Asian 40, i<~ e RE e o wrfem

Pacific Postal Union? o wafgsy i
(A) Manila (A) =
(B) Bangkok (B) Tita=s
(C) Colombo (C) =ore)
(D) Mumbai (D) THfE

41. Which is the reducing agent in the thermit 41, CFRRGE e cramaten e wifil sefecs
reaction carried out for repairing of the railway @ e «md Tame o, A

track? (A) ST =HEs
(A) Iron qxi_dc (B) mﬂltﬁfﬂﬁﬂﬂ
(O Ak i eids (©) s =t
(D) Iron metal (D) HI=3 =hEEA
42. The Rourkela, Iron and Steel Plant islocated 42. FTAET G € e T WA .
in— (A) ARG W
{A) Coal mining area (B) Mz wwm
(B) Iron ore mining arca (C) T & G T e
(C) Rggliun between coal and iron ore (D) HITE BT ;
mining area .
(D) Damodar Valley ¥
43. A stood 10thinthe class, while B ranked 38 43. Class-4 A rank (MGCE 10 932 B (0T 38,
from the bottom. B's result is better than A and <A (<75 | B3 EErD A (U0 S O3 S
there are 2 students between A and B; Totalnumber T AR 2 & T =T | TTE e &l
of students are i 7
(A) 40 (A) 40
(B) 41 (B) 41
(C) 42 (C) 42
(D) 44 (D) 44
44. Forests having no free entry by people in 44, SIS (4 FTGHCS T o SRR R—
India— (A) e T
(A) National Park (B) wEAHT
(B) Wildlife Sanctuary (©) weafFs SAT
(C) Reserved Forest (D) FaFwS T2
(D) Protected Forest
Please Turn Over
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51. Ocean Thermal Energy Conversion—

process was used for energy production in Indiain
(A) Kolkata

(B) Haldia
(C) Madras/Chennai
(D) Paradwip

52. Whichof the following is not a fundamental
duty under the Indian Constitution?

(A) To protect monument of national
imporiance
(B) To develop scientific temper

(C) To uphold unity and integrity of the
nation

(D) None of the above

53, Identify the substance which can dissolve

x ol

in water:
(A) Glucose
(B) Urea
: (C) Acetonc
- (D) All of the above

54, The youngest President of the Indian
National Congress, who held that office ot the age
of 35, was

(A) Rash Bihari Ghosh
(B) Subhas Chandra Bose
(C) Abul Kalam Azad
(D) Lala Lajpat Rai

55, Which Union Ministry is associated with
the pilot phase of The Open Network for Digital
Commerce?

(A) Ministry of Commerce and Industry
(B) Ministry of Home Affairs

(C) Ministry of Electronics and IT

(D) None of the above

!'J.I F)
o ;H.'I-_

‘HT::"E %TEMEMmCmmimm'
(A) Zaarem
(B) =fum
(C) e/ csuitce
(D) #Aratdist

52. Fire BfefRe el s MR WYEe
cinfere =l T

(A) B e ooged Gl T ==

(B) Tamiig weiie e 2 Hes

(C) SrTEa & 6 il FIU 6 Hraw
=l

(D) BoER oA =

53, oA HAEs o, 5 (e e FE—
(A) H=S
(B) TERm
(C) SFEH
(D) SviEm FaalHE

34, m35amwmw&u¢maﬁtﬁ
HelwTs LR, 1o ZEe

55, (@ P NETS! ARG (| S Y ST
Gﬁqmﬁﬂaﬁﬁmﬁﬁmﬁﬁﬁmﬁiﬁﬁt

(A) ﬁﬁﬁwmmw

(B) AR e s e
gnjﬁﬁauﬂtpﬂﬁwawMEWMﬁ

(D) S AR IR
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ion of Dengal, the two pew
pm%hﬂtr:;?:h‘:ﬂl:‘ inio existence were
(A) East Bengal and Bengal
(B) East Bengal and West Dengal
(C) East Bengal and Assam
(D) East Bengal and North Bengal

£7. In an examination. 33% of the candidates
failed in English, 65% failed in Mathematics,
whereas 24% failed in both. Find the percentage of
candidates passed in the both subjects.

(A) 4%
(#) 4:5%
(C) 5%
(D) 535%

58, The leader of the Ghadar Parnty in Bengal
and Orissa was
(A) Jatindranath Mukherjee
(B) Jatindranath Das
(C) Barindra Ghosh
(D) M. N. Roy

59. The major share of expenditurc in the Union
budget 2023-24 goes to—
(A) Interest payments
(B) States® share of taxes and duties
(C) Centrally sponsored schemes
(D) Subsidies

60. Which among the following Indian city has
hosted the ‘Khadi Fest-2022" Exhibition?
(A) Ahmedabad
; (B) Chennai

T uf

s6, Tvsona Uy aga
o
(A) o4 aroe @ag e

(B) s ool e o Ao
(C) *{4 =ow ot wWE
(D) =4 ae o e A

\'r

57, wafl «Hwm Lradice S5%, WE 656
ufbre® 24% o Bl ooy e 14D o whipery
Y k.

(A) 4%
(B) 45%
(C) 5%
(D) 5:5%

8. e gan afsem o wona et iR ‘t
(A) wEmra gafel '
(B) e w
(C) =i ooy
(D) &9, &4, '

59, 202324 e colitn anmeha wikene ay
[ AP ) i
(A) 04wy
(1) codity mrescy wrenofe wis
(C) codity syhewrmaremy v wigew
(D) wife

60, mmﬂm"mﬂ:nmm“m&ﬁ -
wefbe e
(A) TR
(B) @nft
(€) yuE
(D) A
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T1. A drop of water i broken into two drops.
The sum of which property of the two drops is
equal to that of the single one?

~ (A) Radius

(B) Surface area

(C) Surface energy

(D) Volume

72, Whichneighboring state of Indiahas marked
its 75th independence anniversary on 4 February,
20237

({A) Bhutan

(B) Nepal

(C) Srilanka

(D) Bangladesh

'73. Which country has builtan * Artificial Moon’
i ect?

(A) USA
(B) China
(C) Russia
(D) Israel

74. A man encashes a cheque of ¥ 6000/- from
a Bank. The Bank pays him in 200 rupee notes and
100 rupee notes, totalling 48. The number ol 200

rupee notes is
(A) 20
(B) 12
(C) 36
(D) 24

- 75. Which Mughal emperor was known as
Alamgir I?

(A) Akbar

(B) Jahangir

(C) Aurangzeb

(D) Bahadur Shah II

wlin Cwie wmla criemen G AT AR A

EIHA 75%A e fFa o SCAE

By IS FEE?
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71, B i e cere 4 wem offaTE = 1240

(A) =y ’
(B) s{etems cwaFa

(C) =h =fe

(D) =nreq

72, STATTA (v =feraE 7B 4 oFEfE, 2023

(A) g5MH
(B) et
(C) SHrere
(D) Attt

73. (=M 4 *Antificial Moon® (33 bM)-a7

(A) =145 gwarg
(B) B9

(C) aferm
(D) TR

74. T 6000/- @=T 5%, Bank-9 SIS (571,
Bank 200 5/ € 100 b2 b fifem b 48 B
I 7 1200 DIRER (16 a F TS ¢

(A) 20
(B) 12
(C) 36
(D) 24

75. @W 9 UG 2w wEEE A AR
ferem?
(A) B
(B) @I
(C) AT
(D) o ARTTA =12
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g (A) New Delhi

4 (B) Colombo

4 (C) Dhaka
(D) Jakarta

77. Which Mughal emperor granted ‘Farman’

in 1717 to the British East India Company?
(A) Bahadur Shah II
(B) Shah Alam Il
(C) Farrukhshiyar
(D) Muhammad Shah

AR N '

78. In India Aman rice is cultivated during
(A) sown in S. W. Monsoon season and
harvested in winter.
(B) sown in S. W. Monsoon season and
harvested at the end of the monsoon.
(C) sown in summer and harvested in the
monsoai.

(D) sown in early summer and harvested
at the end of the monsoon.

79. Combine three resistors 3£, 45Qand 302

in such a way that the total resistance of this
combination is maximum with value

(A) 12.50
(B) 13.5Q
(C) 14.50
| (D) 1650
80. Supposex sy = x+y,ifx<y
e = x-y, ifx>y
S § = 2, ifx=y

R f““EvaIuam
12}4'{5-7}:

_, i
B
Sy ]

o m—

B-14

1e.‘i"a’hh.‘:h city is the Headquarter of

-uaﬁ:ﬂ
(A) TEA AT
(B) oo |
(C) Ul

(D)

77. 1717 AR @ 99 FEh :-'T-':':,
TR n o c.Cf B
- (A) TaSm T R
() fadm =R =
(C)
(D) T "R

8. ST SIHA Y BICEA 1
(A) Wﬁfﬂmﬁhﬁm
(B) e T ST € t.k '.
(C) T =i T oA =
(D) Feere 29 A ®

ki ':t‘;:‘ L
=01 ZH | :

79. "B @H 50, 4.5QERIN G S
=7 T (0 STHE AR TE TR
(A)R1250
(B) 1350
(C) 14.5Q
(D) 16.502

80. x+y= x+y TMx<y
= x-y MWx>y

=R v =) 5

T ey 2 :
S*(7+2)+(5+7*2
(A) 20
(B) 21
(C) 22

‘:_-
T

(D) 19



81. The major percentage of Central
Government subsidy in 2023-24 i< on

{A) Food

(B) Interest
(C) Fertilizer
(D) Petroleum

82. The word Congress was borrowed from
(A) TheCongress (Parliament) of the USA.
(B) North American History, to connote
an assembly of people.

(C) The Congress of Trade Unions.

(D) The Congress of World Religions at
Chicago.

83. Choose the correct diagram to represent
books, bengali books and novels.

)

e,
0 C

84. Find the value of

81. 2023-24 HTA (3 (FH A0S SEF HAWH
0T T TRR FATRT
(A) =]
(B) =T o
(C) 5=
(D) cridfEmms

82, LR A a1zl A T
(A) RS Terare? T @F |
(B) Ta wme HewA (U, T
GAHS (AT |
(C) @ BefFmTa FIA (VT |
(D) e ! STREH (3T |

83. 7w b @G, @b &, TEM R N
BT A e

(A)

178
6
.




. %’Pi’hli:h of the following is not regarded as
iblic expenditure in India?
(A) Subsidy giw.:nm!umlcityhuss:nfim
(B) Defense expenditure
(C) Interest payment on national debt
(D) Investment spending by public
companies

86. Who gave the tile of Rani to the Naga
women leader Gaidinliu?
(A) Subhas Bose
(B) Jawaharlal MNehru
" (C) Thakkar Bapa
(D) Mahatma Gandhi

87. What happens when the potassium iodide
solution is added to a solution of lead nitrate?

(A) White precipitation of lead iodide is
formed.

(B) Yellow precipitation of lead iodide is
formed.

(C) Red precipitation of lead iodide is
formed.

(D) Black precipitation of lead 1o0dide is
formed.

88. Which country has awarded Ardeshir
B.K. Dubash, the ‘Orderof Meritinthe Diplomatic
Services'?

(A) Canada

(B) France

(C) Japan
(D) Peru

el AT T

(A) FHIE
(B) T4
(C) =e™
(D) (ot

(A) T
(B) T
(©) st

{B} Mmm -
(C) e Wil -
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90, Name the Chalukya king who defeated
Harshavardana,

(A) Pulakeshin |
(B) Pulakeshin 11
(C) Mangalesh

(D) Kirtivarmana

91. l]jll G:-mg_ndhnr Tilak introduced the
Ganapati Festivalin 1893. He held the first Shivaiji

festival in
(A) 1884
(B) 1885
(C) 1896
(D) 1897

92. The Diamond Quadrilateral of India will
connect

(A) India’s four main megacities by
superfast railway services.

(B) India’s four main port cities by
superfast railway services.

(C) India’s four main airports by superfast
cargo airplanes.

(D) India’s four main industrial cities by
superfast roadways.

93. Name the first newspaper in India.
(A) Parthenon
(B) Digdarshan
(C) Bengal Gazette / Hicky's Gazetie /
Hicky's Bengal Gazette
(D) Samachar Darpan

94. There are 75 questions in a question paper,
each carrying 2 marks. | mark is deducted foreach

questiunansw:mdiumrmcﬂy.hstud?mansweﬁng
all the questions got 45 marks. What is the number
of questions correctly answered by the student?

(A) 42
(B) 41

BWP23

o), T Bl wre e Hfarfers S0
(A) =9 sl
(B) fadm sl
(C) =0
(D) Sl

91. 1893 HIA A sriea o o +ifE Beom o
wrafer | fef s foarie S0/ oF sEkrEm—
(A) 1884
(B) 1885
(C) 1896
(D) 1897

92, EETEd & Fri Y [E A

(A) =¥ 8ff TEsETE EEAEl G
w{farEan |

(B) zy= sft =5 ==a0F wEAE GE
#TETEam |

(C) = 86 FAEavarE Feoa qERE
|

(D) = 8ft i =1zats Eeana AT |

93, SRETEA 2T HEHALES
(A) #ieedaa
(B) st
(C) &E olten | e’ ot | RiEw
e (T

(D) FRIEEA #ele

94, <= =aeea 75T = wm gat o6l amm
52 2 | =ffeft = TwEa ey | T R = IR
¥4 72 Twa e Eme w3 rmidl 45 793 «im, A
TEE A TS

(A) 42
(B) 41
(C) 45




R 5 ‘#Wh'ii:_h,-ui;’tbn faIIumns accounts for the
 highest amount spent on Indian imports?
~ (A) Capital Goods
S5 A (B) Gold and Silver
ey (C) Electronic Goods

(D) Petroleum, oil and lubricants

96. In India the Food Processing Industry is
most developed in
(A) West Bengal
(B) Gujarat
(C) Andhra Pradesh
(D) Haryana

97. Socio-economic planning is a part of
(A) Union list
(B) State list
(C) Concurrent list
(D) Reserved list

 98. Which amendment of Indian Constitution
is related to the Anti-defection law?
(A) 51st amendment

(B) 52nd amendment
(C) 53rd amendment

(D] S41h amendment
!

99. Lﬂg "F, = nn=1)(n-2)...(n-r+1),
: e integers such that 1 <r<n. If

(D) Al

97, SR TdtnTe AR e
ST
(A) ZefiTa wfert
(B) A1

(C) 31 =it
(D) wEfFs iR

L i o
_

R — e 0 L &

& T Bl

98, SEEH HRNER G AL
R SRE: AE e q- i
(A) 519 AN A3
(B) 529W AR A

(C) 53%x Hereis

(D) 54%7 A=

. "P. =n(n-1) (n— 2] L8 {ra_

lsrs n, A R, r "i‘f"lﬁﬁl L 1_.: 1:—‘ -

n-A W T ¢
(A) 10
(B) 12
(C) 20

D) 16



| 100, Who wrote the book *Amuktamalyada®?
(A) Madhabacharya

(B) Ramanuj

(C) Knshnadevaray

(D) Maladhar Basu

101. Cause of myopia is
(A) contraction of eyeball.
(B) expansion of eyeball,
(C) dryness of optic nerve.
(D) All are true

102. Where was the first Buddhist Council held?
(A) Vaisah
(R) Pataliputra
(C) Rajagriha
(D) Malava

. 103. Which sportsperson has been named as the
'BBRC Sports Personality World Sportstar of the
fYear' for 20227

(A) Rojer Federer

(B) Neeraj Chopra

(C) Lionel Messi

(D) Serena Williams

104. Which one of the following is not a feature

of Indian federation?

(A) There is an independent judiciary in
India.

(B) Powers have been clearly divided
between centre and states.

(C) The federating units have been given
unequal representation in the Rajya
Sabha.

(D) Itis the result of an agreement among
the federating units. I

(A) Bfstpores HUFHA
(B) wiyrmeres =i
(C) == w99
(D) #a=h fi=

102, == (Ine A coiem HAe Tt
(A) Tz=iit
(B) #ibfeE

(C) wre R
(D) =m1a

103, oo Ersrfoes TR ool saer-inb
e % BE T W Ture 2022° Ffve =@
S itn R

(A) TR CFEA
(B) o= ot
(C) emn =
(D) CTE! KR

104. Rt femofm sy eml s

TEARE LR Tt
(A) SRR <=l 7Es FHETS Hi|
(B) == & FrEaf@ W wAE e

B |
o
SRS
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?f":' li.’ll;!. Who is known as the ‘Parrot of India'?
~(A) Jimutavahana

. (B) Al-Beruni

I (C) Ibn-Batutah

(D) Amir Khasru

106. The historical importance of the second
session of the INC held in Calcutta in 1886 was
that—

(A) There was merger between the INC
and the National Conlerence.

(B) It was presided over by Dadabhai
Naoroji.
(C) The great scholar Rajendralal Mitra

was the President of its local Reception
Committee.

(D) All of the above

107. The first cotton textile mill, in India was set
up in
(A) Kolkata - Ghusuri
(B) Kolkata - Sinthimore
(C) Nagpur
(D) Thane

108. Mahatma Gandhi presided over the Annual
Session of Congress only once at

(A) Kakinada, 1923
(B) Belgaum, 1925
(C) Kanpur, 1925
(D) Gauhati, 1926

109, Name the Sultan who first organised
expeditions o conquer the Decean, R

~ (A) Alauddin Khalji

(A) BT
(B) ’ﬂ'ﬂ'ﬁ#ﬁ
(C) TEA-TEE
(D) BIfa P

106, 18867 Frerr =H(be e
f¥rn wfuraIwTs Az oy e .r-.::
(A) S T 6 ST
e ATE WhE| ,

(B) s (A 7 e i

(C) ez areE a1 A
=fafta Aefed Cocat e, R

(D) Eetmaa FAEL

107. CRie STATEA 29 0T 2 Je
(A) wfrel, TECS
(B) wfmrer Fivz Ene
(C) #stsfra
(D) <IA-CE

108. 7% M) =00 (1 G2 A f -
Teifey FaerH Gift == ;
(A) =g, 1923
(B) ca=ishe, 1925
(C) =Mz, 1925
(D) ¢, 1926

109. mﬁﬁ'ﬂﬁiﬁaqmﬂm ok

T T

) S
(B) =13 ' IZ"
(C) ﬁ’rﬂﬁw e -

(D) TTT Ry

R '-;!_.'




110. NEAT 3.0 is a platform associated with
hich Union Ministry of India?

(A) Ministry of Education

(B) Ministry of Health and Family Welfare

(C) Ministry of Commerce and Industry
. (D) Ministry of Corporate Affairs

111. When is ‘International Customs Day 2023'
observed?

(A) January 25
(B) January 26
(C) January 27
(D) January 28

112. What is the name of the new department
created by the Reserve Bank of India in 20227

(A) Department of Artificial Intelligence
(B) Department of Fin-Tech

(C) Department of Data Science

(D) Department of Digital Currency

113. Name the Sultan of Deihi who first
introduced the north-west fronticr policy.

(A) Htutmish

(B) Balban

(C) Raziya

(D) Alauddin Khalji

114. Under the rule of which emperor Nalanda
University was founded?
(A) Samudragupta

BWP23

110, wteania oo coim sz 7 ‘NEAT 3.0°
selD wffe ¢

(A) Tl e grmsa

(B) ey ey e e wfafin emmores

(C) Tfly e warnl s Befl

(D) fufaly s efival o -

111, ‘wryeiifes S5 e 2023° oo S0
g wifar «Afore et

(A) wrenfa 25

(B) wrmfa 26

(C) wnpnfa 27

(D) w28

112, Srreara ferd are 2022 ACA FH 954
famism #fS wrant
(A). fenilicat = =it R
(B) TEHAGED = fir-0
(C) fedAlTaS = cebi A
(D) feufies =rs fefubm =maMm

113, fifea com Fere s 2o Saa-+ffss Ay e
ST FHAR
(A) Tergefie
(B) =184
(C) =ifem
(D) e werd

A
114, Co AEIE urave e Fanfoneem TPe.
H' i g + W

(A) oY e
(B) f¥m veroy i
1 (C) #9od

1

(D) 29 Faed
(R ik m




...-'..rﬁ-...._ - dfalﬂ I"I"” hose sides are
ol e

Elﬂ %'-llilsmm'l‘h:hnsihﬂf

‘ P the bi ggest side is

(A) ?%cms
(B) 10 cms

1

12— cms
(C) )
(D) 7ems

116. Who was instrumental in founding the
National Planning Committee (the forerunner of
the Planning Commission) in 1938, fordrawing up
a plan of economic development on the basis of
industrialization?

(A) Subhas Chandra Bose
(B) Jawaharlal Nehru
(C) Mahatma Gandhi

(D) Maulana Abul Kalam Azad

117. Inwhichissueofthe following Rajya Sabha
and Lok Sabha enjoy equal power?

(A) Amendment of the Constitution
(B) Removal of government

(C) Introduction of money bill

(D) Creation of new All India Service

.......

r!.'
i .wfﬁﬁﬁmmﬁ“' "
e <A@ 30 cms | 284 1
— cms
(A) ?2 £

(B) 10cms
1
2— cms
© 123

(D) 7cms

116, 1938~ (& = AfwFwl 3
qﬁuﬁﬁﬁ‘?ﬂ farufes, FemE E"ﬂl |,_.
wetafes R «9 gze FEree

(A) ¥=r & (9HF

(B) SEEEE CTF

(C) =T=rt st

(D) GTE SgE == S

fic

117, ﬁﬁﬁﬁwmﬁmmﬂa :
I HISE g e

(A) FfRum FHeranem
(B) %= Hoae
(C) wdR= Suem F
(D) = Wﬁm@ﬂm.q

S ome

B,

S ﬁﬁﬂmmﬁmw DI & In



P19, Whish of the following states fn India I
venptad fromreservation of Seheduled Castes in
avchayati Raj institutions?

(A Rajasthan

() Assam

() Sikkim

(1) Aranachal Pradesh

130 With which country has India recenly
signed the Beononmie Cooperation and Trade
Agreement (ECTA)?

(A) England
(B) USA
(C) Australia
(D) France

121. Which state among the ‘Sixteen
Mahajanapadas® was successful ultimately in
founding an empire?

(A) Koshala

(B) Kashi

(C) Magadha

(D) Panchala

122, Inacricket match, 5 batsmen A, B, C, D, E
scored an average of 35 runs. D scored 5 more than
E. E scored 20 fewer than A. B scored as many as
D and E combined. B and C scored 75 between

them. How many runs did C score?
(A) 45
(B) 55
(C) 20
(D) 30

123, Who was the first historical emperor of
India?

BWP/23°

119, Finfafre aeofan soo eraloe s
e sfadponge wofafn efeom em Acmwem
arayl oty

(A) aterym
(1) ‘amm
(C) e
(D) wewnnem ==

120, (91H (e #ney €A Arafeswm
e corevicre e G 9 RS (adtafes
Herufre wae afifers pfe) st waree

(A) e

(B) ¥ qoary

(C) we3femn

(D) =%

121, ‘CIIG™ WEREe-4q W00 o e @
VEJOFAH-GH GTYTY STATS Hew HHIG 4105 6T 8
(A) corm
(B) =
(C) =
(D) i

122, =0 f73% of@m A, B, C, D, E 108 35 7H
() D; E-3 (90% 57 (3% 303 49t E, AT (905
20 9% T+ 74| D, E-7 fiffre armen B F=)
B8 C 9TANY 75 71 312 | C 43 TE TH AL

(A) 45

(B) 55

(C) 20

(D) 30

123, SeATa 2o ez s @ fwme

(A) ¥=°H
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(A I‘mdwllcm of bateries and ship
repairing

(B Petroloum refinery a@ﬁ"hmductlun of
hatteries

(C) Petraleum refinery and ship repairing

() Petroleum refinery and Chemical
Fertitizers production

1235 Which state/union werritory has launched a
1S point Winter Action Plan® 10 control air
podbation?

(A) Punjab
(B} New Delhi
(C) Rajasthan
(D) Harvana

126. The British Committee of the Indian
National Congress was started in 1389 under the
chairmanship of:

(A) Dadabhai Naoroji
(B) A. O. Hume

(C) W. Digby

() W. Wedderburm

127. Which hormone is responsible for breaking
the dormancy of a seed?

(A) Auxin

(B) Dormin

(C) Cytokinin

(D) Gibberellin

2 eWhid\ of the following mpmdur.'umls is
na mE'Il-nE ﬂﬂnﬁ?

124

(24, e feneTa R =

125. wiaEarda (- AT/ (FH = -""':T-'
| §-virG B0T SR WA OF A S Y
fergel AT ST :

126. mamwmﬂﬁmwm e
fafb« =Rl oo s R w=E .

127. m‘ﬁ”'{ﬂ‘l‘ﬂ‘ﬁﬁmmmt

128. A e vml%fbm r‘

(D) Sejefs

(A) ﬂmﬁm @ Se G
(1) el o A @ 2
(C) wferer C2 (11T G
(D) Wil (&% CAETIATR G 3

.

(A) &
(B) 7 fAfe
(C) #IeEH
(D) =

(A) WS Tz fEr
(B) 4. 6. %83 -
(C) wif®. feafy

(D) ©IfFE. errerEF

(A) =fae
(B) wafiq
(C) FDrRTEfm
(D) ferrmafem =
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s
e

(A) oG &g
(B) T
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(B) Charter Actof 1813 :

() Charter Act of 1853
(D) Charter Act of 1833

110, Which Asian country is the host of 2023
A Women's World Boxing Championship?

(A) Sr Lanka
(B) India
(C) Nepal
(D) Thailand

]
131 If f{-t}=5"+F+2.umme value of

fl=x) 18
(A) f(x)
(B) =f(x)

© f [- %)
o -/ [i]

132. If the seventh day of a month is three days
earlier than Friday, what day will it'bc on the
sincteenth day of the month?

(A) Saturday
(B) Monday
(C) Sunday

(D) Tuesday

133, The ion of an element has three positive
change. Mass number of the atom is 27, and the
”“ﬂ'lbﬂufnmmnsu 14.
electrons in the ion?

(A) 13 T
(B) lﬂh'- i
(C) 14
m}

s .I"ul'?

Whamthcnumbﬂﬂf

mmﬁwﬁw“ﬁnt

(A) 1793 fintiwa 50T WA
(B) 1813 fmema sivm =iz
(C) 1853 fipbiara 56T SiEs
(D) 1833 fbirsr 5w =&

130, @fma @R oot 2023 SR, fe s
e i sfde war

(A) Eww
(B) ST
(C) (==
(D) wfEFre

131, = f{x}=5‘+—;;+2.f{-,:}amm

(A) f(x)
(B) ~f(x)

o)
o) -/ [ﬂ

132, =i TR A AR ST 0 3 = =
oz, 19 == el F 7@ T

(A) =R
(B) S EIE

133, 3 CNCRE WA T Tl
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135. For a floating body to be in stable
equilibrium, where should its centre of buoyancy
be located?

(A) Atthe centre of gravity

(B) Above the centre of gravity
(C) Below the centre of gravity
(D) It may anywhere

136. In the service sector the most modern and
developed economic activity is
(A) Tertiary activity
(B) Quinary
(C) Quarternary
(D) Secondary

137. Which of the following are known as the
Bombay Triumvirate?
(A) B. G. Tilak, G. K. Gokhale and
M. B. Namjoshi
(B) Ferozshah Mehta, K. T. Telang and
Badruddin Tyabji
~ (C) B. G. Tilak, G. G. Agarkar and
5 r G. H. Deshmukh

¥ ).'D_adablm Naoroji, K. T. Telang and
RG Bhandarker
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(A) SRTHYE S
(B) B
(©) M
(D) QoY

135, @il ST 2 3 I ST
el (P SIS T
(A) STACHH '
(B) STATHEA @9

(C) SrErEd B
(D) TR T WO i

136. sECE SiReE AR 'ﬂ
farare @@
(A) Gifnfa s
(B) 32
(C) miGrEmfa
(D) Tygfi=

137. G Ff e i o
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139 Wherﬂmlhe Y
(A) Pumshpur'f'
(B) Jalandhar W'd" :
(C) Kashmir
(D) Pataliputra

0. A muslim organization, which pro
4ring Lhe First World War that Muslims sm

Jﬁlur_l.:lll! and tl—)" to reach an accord with the
,: g aress, Wils

(A) Muslim League

(B) Ahmadiya Movement
(C) Ehrar League

(D) Deoband Movement

141. Madan Lal Dhingra murdered Curzon
whyllie in London in 1909 as a protest against

(A) the indiscriminate arrest of the
Ghadarites.

(B) the inhuman transportation and
hanging of Indian youth.

(C) the imprisonment of Lal, Bal and Pal.

(D) the Partition of Bengal.

142, A, B, C, D, E, F are sealed around |2
hexagonal table. A is seated opposite B, who is
hetween C and D. A is between Eand F, while E
is 10 the left of D. Which of the following paics is
facing each other?

(A) (E,F)
(B) (D, E)
(C) (C,E)
(D) (C, D)

143, Membersofthe Cﬂnshmtﬂtﬁ”ﬁ%‘%l’?m g

lies.

(A) elected h:,f Prﬂ\"lllﬂ

1".

St&lﬁ .

e i

140, <= e weard u e famigres o o2
= T U AP v s el e B
T R W TR S e wp B, oo 7

(A) e e

(B) =resfim were
(C) azm st

(D) T W=

141. 7/ =fEamd 1909 Hi Fem 79 =1 o
el T v wEfeT T =
(A) o3 Ao e e
(B) W‘f{&mﬁﬁmam
(C) ST #AT¥: -0 TN
(D) THE*
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144, FRTd STETEA T ©F ARGRR

14
(A) 7 3 o
(B) S - |
(C) &<¥ .
(D) 584
s T T TR 0% 2
145. Who started Faraizi movement in Bengal? 145. . 1
Sy (A) fegfim
=TT i
(B) Kunwar Singh (B)
(C) Digambar Biswas (C) fisraa Reart
(D) Haji Shariyatullah (D) =i =faargs
5 1
146. Who was Mihirkula/Mihirgula? 146. it/ FRkaen o et i ff.
(B) Kushana king (B) 1t v
(C) Huna king (C) %9 ==
(D) Pahlava king (D) MET R
1
147. Who is the head of ﬂlemmmlssmn for the 147. ﬂﬁﬁw%ﬂ-{m it AT
sub—mtegmmunufﬂﬂﬂ s'i‘ : e Zans v YA (e , ;
(A) Justice G. Rul:um (A) bR+ fis, @ﬁm "
(B) Justice Uday Umnsh Lalit (B) favra+ife Ty Em-r
(C) Justice D Y Chandrachud (C) Rorasfe & exiz by
(D) Justice Sanjay Porel _ (D) Rbrmsifs s1egm Eﬂlttsﬂ_-p
o8 1
Ci
R 1 e m&‘fx o
(A) Foirfy B
5 (B) G 4
{.i.r"_':.!.] ﬁi}ﬂb : .,'_"‘ '-'-"-:.: f . {C} "lﬁ'l
(D) Liquid | (D) @z



(C) Most milch mttl':-.m ey
(D) All the reasons above 8

150, In India the main textile fibre crop is
(A) Jute
(B) Cotton
(C) Flax
(D) Til

151. All revenues received by the Union
government by way of direct and indirect taxes,
money borrowed and receipts from loans given by
he government flow into

(A) the Public Accounts of India.
(B) the Consolidated Fund of India.
(C) the Contingency Fund of India.

(D) None of the above

152. Baking sodais a mixture of
(A) sodium carbonate and acetic acid
(B) sodium carbonate and mlrpﬁq_gcid
(C) sodium hydrogen carbonate and
tartaric acid .
(D) SDdiumh}’drﬂgcncarbGﬂﬂtﬁaﬂﬂwﬂiﬂ
acid

153, A metallic ball has a spherical cavity atits
cenle. If the ball is heated what happens to the- |
Cavity? it A L

(€)=
(D) Evza %2 =i

150. ETTEE 24 0 o 7
(A) #f5
(B) =i+
(C) =%
(D) fem

151, 227 € AErs wa WA A% R
T T e, 1 e e & Ea e (4 A
(9T 1 %2 T

(A) ©HETE ARAE WRET-4




184, Nane the king
dqmlb«l in Nanaghat inscription.
(A) Satakamil >
(B) Gautamiputra Satakarni
(C) Vashishta Putra Pulamayi
(D) Yajnasri Satakarni

155. Which institution has released the
‘Adaptation Gap Report 2022'?
{A) NITI Aayog
(B) UNEP (United Nations Environment
Programme)
(C) WSF (World Social Forum)
(D) WEF (World Economic Forum)

156. Which country has passed the gender
recognition reform bill?

(A) England

(B) Scotland

(C) ltaly

(D) Switzerland

157. Dadabhai Naoroji was elected tothe British
House of Commons as a member of the

party. .
(A) Conservative
(B) Liberal
(C) Labour

(D) Labour-Liberal combine

......
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156. com o forn Trgfe arcwia R o
(A) =TS 9
(B) HoEUTS
(C) T
(D) HELEREITS

157. "ATeR (afe RoEs TS ST S5
s, e e ﬁ-u‘ﬁmmﬁmm ol
(A) TeSie
(B) ™
(C) I
(D) craE-fFeRrEm Ay
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161. Oneof l.hefn ving tet

the lot. Identify that single term:
Glucocorticoids,
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nnlnnfﬁr Tank Support

(B) Isrut
(C) Russia
(D) USA

165. Five boys A, B, C, D and E play a game of
cards. Each boy has 10 cards, E borrows 3 cands
from A and give away 5 to C who in tun gives 4

to B, while B passes 2 to D. How many cards does
D have?

(A) 9
(B) 10
(C) 11
(D) 12

166. A birdissitting in a wire cage hanging from
the spring balance. Let the reading of the spring
balance be W . If the bird flies about inside the
cage, the reading of the spring balance hecomes
W.. Which of the following is true?

(A) W,>W,
(C) W,=W,
il
(D) W W

2

hboring country of India has
Z.gmlup Amnnclment Bill?

132 g

vy SR

&, WW il m‘fﬁ r 'J =
¢l I U L2 ol e
(A) B
(B) TerIG
(€) mi=
(D) W el

165. Ao 4T A, B, G, D, E oM
ey #1010 6 w16 WTe | E, 3 2 g A
mwmmmwmwﬁciﬁmlc *'"p_-_
B % 97t B 2 fb 16 D-(F 0l | D-% e
ITE ¢

(A) 9
(B) 10
(€) 11
(D) 12

166. ﬁa\mmwwmmm
= #f1f¥ ArifeE | W, 2 Pl vz

mﬁw%@wﬂmmmw e
@it Dy

(A) W,>w,
(B) W, <W,
C) W, =w,



ﬁﬁ+ w}mfﬂﬂlﬂﬂdﬂi ] : nal Society, ;
Natmnﬂlschuuland ationa
ﬂﬁmﬂd‘: hﬂﬁ"ﬂfﬂ Hatlm nopuls ,‘r‘i-u
“ o rmglﬂmmnmry? ,. Y

(A) JjntlndHHaih : _' e

(B) Rﬂjﬂﬂl‘ﬁ'ﬂl’lﬂﬂﬁﬁp |

(C) Nabagopal Mitra

(D) Satyendra Nath Tagore

§9. Meaning of Man — Land ratio is

A) the ratio bet the total 169, =8 — afd Here T
(# = CIWEEn tola P“P“lﬂﬁﬂn
and the actual utilization of land in a (A) TGRS (e D A

country. i = |
(B) the ratio between total land and total (B) O3 CAfe il '@ GG e Srirs |
population of a country. (C) (I3 GG 7= &l & Seams Jst

(C) the ratio between the total plain land T |
and mature population of a country. (D) o< 3% g8 e & =[Feas Tl

(D) the ratio between total agricultural
land and total male population.

170, Between whom was the First Battle of 170, 15269 219 AlfR#ALE Yo FI0T 0
Panipat fought in 15267 1 e o r

(A) Babur and Ibrahim Lodi (A) 32 & ZafE i

(B) Babur and Rana Sanga (B) méﬁﬁm

(C) Babur and Sher Khan (C) 1A © O A

(D) Akbar and Himu (D) =A€7

India—
(A) Ballarpur

171, The largest centre of Papcr

"{o\ﬁ*n.[__- it
(D) T '
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173. The efficiency of a Carnot engine working
between 227°C and 27°C is
(A) 100%
(B) 50%
(C) 40%
(D) 20%

174. In which substage of interphase is DNA
doubled?

(A) G,
(B) S
(C) G2
(D) Gy

175. Population explosion took place in India

during :
(A) 1921 — 1941
(B) 1901 — 1911
(C) 1971 — 199]

(D) 1961 — 1981

173. 22?:-': A9t 272G THIETE W)
71 To el T
(A) 100%
(B) 50%
(C) 40%
(D) 20%

174. DNA-97 fF=1 fEod 20 &
LLink:
(A) G,
(B) S
(C) Ga
(D) Gy

daie

4

175. wmﬁwmwmm T4 T
(A) 1921 — 1941
(B) 1901 — 1911
(C) 1971 — 1991
(D) 1961 — 1981
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o

176. ﬂ&ﬁ'ﬁmmﬁ; IE
= "EF i1t

recel

178
whle
448

17
bery
gler

app
Swi

18
pla
ang
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79, According to Newlands law of octaves, . 79, FETEE WoT T
wryllium resembles which of the following | 5 -':mﬂ‘
; : il ﬂ}_} LAl "\-q
|.'_. F)J- :._lt’_.,;ﬂur '.--.l
(B) Mag;r.bmumu e (C) BFPEH
(C) Calciumy (D) SFRE=
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- J, 1 F
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182. WhichIndian state has declared Malakhamb
as its state sport?

(A) Kerala

(B) Assam

(C) Madhya Pradesh

(D) Rajasthan

183. Which of the following consitutes a capital
account in the Balance of Payments in India?

1. Foreign loans
2. Foreign Direct Investments
3. Remittances from abroad
4. Portfolio investment

(A) 1,2and 3

(B) 1,2 and 4

(C) 2,3 and 4

(D) 1,2,3and 4

184. Which provision of the fundamental rights
is directly related to the exploitation of children?

(A) Ar. 17
(B) Ar. 19
(C) Am.23
(D) Am. 24

185. NITI Aayog has released the “North-East
Region District SDG Index™ with the support
from

(A) UNDP (United Nations Development
Programme)

(B) World Bank

(C) Asian Development Bank

(D) IMF

186. Which of the following factors caused the

greatest racial cleavage in India before the
foundation of the Indian National Congress?

(A) The llbert Bill Controversy

(B) The reductions of age for entry to the
Civil Services

(C) The Arms Act of 1878
(D) mn?mamlar Press Act

B-36 }5'-“. 2

lsz.wmmmmﬁm?f i

F1rETA TeTeE e AT 1 T A
(A) cm '
(B) =Hd
(C) ==
(D) #rerEH

183, SrTea w9 AR S e TiE
HRESCoR T ¢ i
1. Fmaf =

(A) 1,24783
(B) 1,243%4
(C) 2,3 @4
(D) 1,2,3434

i
=i

184, srEm AR R EEAD HETFEIE
famma CAtTaTEE K S T

(A) SR 17
(B) A 19
(C) =arRA 23
(D) ==rEEd 24

185. & = A Aifs =i -aﬁw
ol 535 Teiou EnlE el area” o< FATEL

(A) TEARDE GFEH (STSAATED mma
(EBantE=)

(B) errs =rs (Bl =1%)
(C) FT (ereastTs % b
(D) =2 <= % 4

(C) 187897 & wizs
(D) Eifig=Ta (e =3

i



Wl i L T W S R I )
v R SV - T RTTB R | 0
LT T RO o
¥ } - s i ' S A R . T p.\._. ¥ -.
1 E §-! [ %8 1 '].1:.. . I'l?-_ F-:_._

;%;I\;ﬁj; '»" r wld
B-37
he leastnumber
¥ :-lul:‘i"pﬂll'cﬂ square, added108798 x 8792 187, o FETY
A N 7 aa spfari 2,
(B) 4 (A) 7
C) © (B) 3
D) ¥ (C) 6
(D) 9
ron ball 1§ heated. .
- 3. A%l be largestin ed. The percentage | 188, =il e 2o B 1 207, o
) density S 7 #Hica el
Ry surface area (A) T%
(C) diameter (B) «eema oo
D) volume (C) TIA
(D) =R«
189, W |-.1,-.I1 sector L'E'rlll:l‘ﬂ‘ll.]l.t-}d th_c most to the 189, [ AT CTTP AT =1 CATG 20 ATATE
Crass Value Added at basic prices in the last HATETH A A A
v} Public administration, defence and (6, %61 SR ofeare @ SR sffat
! other services (B) i, i & (T sl
B) Financing, real estate and professional (C) FEHEETE Bew, P, FEe
SErVICes a TE FITAE
(C) Manufacturing, construction, (D) e, cgooe, #ifaae & e
electricity, gas and waler supply
D) Trade, hotels, transport and
communication
{
: 9. A Public Service Commission wis 19(;;rqiﬁﬁﬁﬂrﬂﬁ¢‘iﬁﬂ¢ﬁﬁﬂﬁﬁhﬂ
| stablished in India for the first time bY LIERIEIASE
(A) The Indian Council Act, 1982 (A) Wﬂ@ﬁ‘ﬁﬂﬂ. 1982
(B) The Act of 1909 (B) 1909-4%
(C) The Government of India Act 1919 (C) 1919~ ST A
(D) The Government of India Act, 1935 (D) 193547 S e W
2 et e g (o R
. 191, In Assam the Tea Research Centre is at :
(A) Guwahati
(B) Jorhat
(C) Tejpur
(D) Digboi
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